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 Homework 2.
1. In a follow up study that lasted for 40 years, 500 women were exposed to passive smoking and 450 were not exposed. Among the 500 that were exposed 25 developed lung cancer. And among the 450 that were not exposed to passive smoking 7 developed lung cancer.
1. Calculate the risk of lung cancer in the group of women that was exposed to passive smoking.

(25/500 )*100% = 5% During the 40 years period
2. Calculate the risk of lung cancer in the group of women who were not exposed to passive smoking.
      (7/450) * 100% = 1.5% during the 40 years period 
3. Calculate the relative risk for the association between passive smoking and lung cancer.

25/500 ÷ 7/450 = 3.2 Which means that there is 220% increase of risk
2. the following table shows the results of a case control study that evaluated the relationship between coffee drinking and pancreatic cancer please calculate the ODDS RATIO ( OR) and conclude.
	Exposure( coffee drinking)
	Pancreatic cancer

cases
	controls

	yes
	100
	80

	no
	80
	120

	
	
	



OR = 100/80 ÷ 80/120  = 1.8 Which means that there is 80% increase of risk
